8 Times Table Speed Test

Complete these tests over a week. Record your time and score to see if it improves.
Fold along the dotted line to hide the answers from the previous test.
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Time
2x8
6 x8
4 x 8
9 x8
12 x 8
5x8
11 x 8
7x8=
3x8
8 x 8 =
1x8
10 x 8




8 Times Table Speed Test Answers

Complete these tests over a week. Record your time and score to see if it improves.

Fold along the dotted line to hide the answers from the previous test.

Time: Score: Time: Score: Time: Score: Time: Score:
2x8=16 64 +8 =28 2x8=16 88 + 8 =11 6 x 8 =48 64 +8=28 5x8 =40 32+ 8 =4
6 x 8 =48 32+ 8=4 12 x 8 = 96 24 + 8 =3 4 x 8 =32 96 + 8 = 12 11 x 8 = 88 72+8=9
4 x 8 =32 88 +8 =11 7 x8 =56 72 +8=9 9 x8=72 16 + 8 =2 3x8=24 88 +8=11
9 x8=172 56 + 8 =17 10x8=80 |32+8=4 12 x 8 = 96 8§+8=1 8 x 8 =64 56 +8=17
12 x 8 =96 72+8=9 1x8=8 40+ 8 =5 2x8=16 24 + 8 =3 1x8=8 483 +8=26
5x8 =40 40+8 =5 8 x 8 = 64 64 + 8 =8 7 x8 =56 56 +8=17 6 x8 =48 80 + 8 =10
11x8=88 |8+8=1 6 x8 =48 80 +8 =10 3x8=24 48 + 8 =6 12x8=96 |40+8=5
7 x8 =56 96 + 8 = 12 3x8=24 16 + 8 =2 10x8=80 |80+8=10 10 x 8 = 80 16 + 8 =2
3x8=24 24 + 8 =3 11x8=88 |48+8=6 1x8=8 40+ 8 =5 7 x8 =56 24 +8=3
8 x 8 = 64 48 + 8 =6 9 x8 =72 96 + 8 = 12 8 x 8 = 64 72+8=9 9x8=172 96 + 8 = 12
1x8=8 80 +8 =10 4 x 8 =32 8§+8=1 5x8 =40 88 + 8 =11 4 x 8 =32 8§+8=1
10 x 8 = 80 16 + 8 =2 5x8 =40 56 +8=17 11x8=88 |32+8=4 2x8=16




